REISIG AND TAYLOR CONTEMPORARY

APPENDIX

Algorithm for the Press Release

Rewritten Actions (with Complementary [Phonological] Sound Substitutions)
1. “Kurt is naked below stage”
. Base IPA: [k'3t 1z 'netkad br'low ste1d§]

. Complement IPA: [k ot 1s ‘nekit be'lo staﬁ]

. Respelling: “Kert is nekid belaw staich”

2. “Kurt is pulled up onto side of platform by gimps”

. Base: [k"3t 1z p'sld Ap 'ant'u sard ov 'plaetform bar gimps]
. Complement: [k at 1s pol t op "@nto sert of 'plaetfoym ber kimbz]

. Respelling: “Kert is pul tup antu sait af platform bai kimbz”

3. “Kurt is dressed by gimps”

. Base: [k"3t 1z d3uest bar gimps]
. Complement: [k ot 15 tfezd per kimbz]

. Respelling: “Kert is chrezd pei kimbz”

4. “Kurt is pulled on to chair on stage”

. Base: [k'3t 1z p'sld an thu tfex an sterds]
. Complement: [k ot 15 pvl t &1 to EFE{ &y stela']

. Respelling: “Kert is pul tang tu cher ang staich”

5. “Kurt is handed guitar”

. Base: [k"3t 1z "heendad g1'thai]
. Complement: [k ot 1s "heentot ki'tay]

. Respelling: “Kert is hangtut kitar”

6. “A cigarette is placed into Kurt’s mouth”
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. Base: [0 s1go'1et 1z "plerst 'mtu k"3ts mas6]
. Complement: [o kiko'jed 15 'plezd 'mtw k ots maewsd)

. Respelling: “Uh kikered is plezd intu Kerts mauth”

7. “Gimps light cigarette for Kurt”

. Base: [gimps lart  s1go et for k3]
. Complement: [kimbz lert kiko'1ed foy k ot]

. Respelling: “Kimbz lait kikered for Kert”

8. “Kurt adjusts the knobs on the amp with help from gimps”

. Base: [k"3t 0'd3asts 3o nabz an 8 @mp wid help fiam gimps]
. Complement: [k &t o'tfotsts 6o nops @n 0o 2emp wed hetb viom kimbz]

. Respelling: “Kert achutz th’ nops ang th’ amp wedh helb vrum kimbz”

9. “One gimps assist Kurt on sitting up in chair with guitar”

. Base: [wan gimps o'sist k"3t an 'sirig Ap ESI wif g1'thai]
. Complement: [wany kimbz o's1zd k ot &n 'sicim op 1) ffs{ wed kr'tay]

. Respelling: “Wung kimbz asizd Kert ang sitring up ing cher wedh kitar”

10. “The other gimp walks to the small room and plugs in guitar pedal”

. Base: [01 'A02 gimp woks thu 81 smal Jum end plagz m gr'thar ‘perl]
. Complement: [0 'ABo- kimb wagz t 01 smot qum an plaks 1 ki'tay "betd]

. Respelling: “Thi uthor kimb wogz tu thi smol rum ang plux ing kitar bedl”

11. “Back on the stage, Kurt begins striking single chords on the guitar”

. Base: [bak an 8o steids, khat br'gmz ‘stiaikin ‘smgol koxdz an 8o gr'thai]
. Complement: [bag zn 0 steitf, k ot br'kmz 'styergm 'smkt koydz sn 0o ki'tay]

. Respelling: “Bag ang th’ staich, Kert bikingz streging sinkl kordz ang th’ kitar”

12. “In small room, gimp presses and depresses guitar pedal”
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. Base: [m smal tum, gimp "piesiz &nd di'piesiz gr'thax ‘perl]
. Complement: [ smot yum, kimb 'biesis @ ti biests ki'tay 'beld]

. Respelling: “Ing smol rum, kimb bresis ang tibresis kitar bedl”

13. “Kurt begins singing into microphone”

. Base: [k"3t br'gmz 'smm 'mtu ‘'markiosfosn]
. Complement: [k ot br'kims "sikiy 'mts 'metkjofon]

. Respelling: “Kert bikings sinking intu meikrofon”

14. “These three actions make up the performance”

. Base: [0iz 011 "akfonz meik Ap 09 pa-'formons]
. Complement: [01s tie "&kfons meik op 6o pa'foymons]

. Respelling: “This tre akshungs meik up th’ performungs”

15. “This continues for a while...”

. Base: [01s kon'tinjuz for o wail]
. Complement: [01s kon'tmdzos voy o weid]
. Respelling: “This kontinuus vor a waid”

Step-by-step procedure

Inputs
. Text: your line-break—preserving script.
. Dialect baseline: General American (GA).

. Output modes: (a) IPA after complement mapping; (b) Re-transcription.

Preliminaries

1. Preserve lines and punctuation; split into words.

2. @Gop (broad IPA): Convert each word to a GA phonemic form, then to a predictable phonetic form by
applying regular allophony (Step 3).

° Practical note: Use a lexicon (e.g., CMU — IPA) + rules for stress, syllabification, and weak-form
function words.
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Assign predictable allophones (GA)

Apply these in order to get a base phonetic string for each word:

1.

2.

Aspiration: /p t k/ — [ph th k"] in stressed syllable onsets; unaspirated [p t k] after /s/ and in codas.
Flapping: /t, d/ — [r] between vowels when the following syllable is unstressed.

Dark L: [1] in coda; clear [1] in onset.

Rhotic vowels: stressed r-colored — [3]; unstressed — [o].

Vowel reduction in unstressed syllables where licensed: full vowels — [9] (or [1] in some positions).

Minor coarticulation (optional): front/back variants like [k]/[k] before front/back vowels; keep as diacritics
only.

Apply the Complement Operator C

For each segment in the base phonetic string, replace it with its “complement” from the tables below. This is the
exact mapping I used. It has two layers:

A. Strict allophonic complements

Stops (aspiration): [p"] < [p], [t'] <> [t], [k'] < [k]

t, d/ <> flap: [t] <> [c], [d] <> [r] (choose the other allophone than the one produced in Step 3)
L: [I] & 4]

R: [1] <> [1] (bunched/retroflex alternants)

Dentalization: alveolar vs. dental pairs swap (e.g., [t] <> [t], [n] <> [n], etc.)

Rhotic vowels (stress complement): [3-] <> [&]

Reduction complement: [A] <> [9]

B. Extended pairs (phoneme-level “voicing”/place flips used in your rewrite)

Voicing flips (obstruents): [f] < [v], [s] < [z], [J] < [3], [ﬂ] > [d}], [6] < [0]
Stop voicing/place: [b] <« [p], [d] « [t], [g] < [k]

R-colored consonants (optional): keep as produced; only swap 1«1 via 4A.

C. Vowel complements (as used)

Tense <« lax (used as a “complement” for effect):
[i] < [1], [u] < [v], [e1] < [e], [ov] <> [0]

Diphthong alternants:
[a1] <> [e1], [av] <> [@w5], [o1] <« [o1]
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. Rhotic & reduced: as in 4A: [3-] < [2], [o] « [9]
Re-transcription [English-language (American-style) Spelling]
Core consonants

. [pbtdkg]—pbtdkg

. [fvedszf3sh]—>fvthdhszshzhh

e [tfd3]—chj

. [11] — r (use “r” if you want to mark retroflex explicitly)

. [11] — I (use “Y” for dark-1 if you want to mark it)

. [mny] - mnng

€6
T

. [c] — tt (e.g., “betting” — “bett-ing”) or “r” if you prefer American “water” — “warer”
Core vowels

. [itere®aoosvusA3 o arasor] — iiheie aah aw ow uh oo uh uh er er ai au oi
Example A: “Kurt”

1.  Base GA: /k3t/ — [kh3] (aspirated, stressed rhotic)

2. Apply C: [k"]—[k]; [3]—[e]; [t] stays [t] (not flapped here) — [k o t]

3. Respelling: Kert (or “Kart” if you want to mark schwa-r explicitly)
Example B: “naked”

1.  Base GA:/'neikod/ — ['nerkad]

2. C vowels: [e1]—[e]; [a]—[A] or [1] — [ 'nekit]

3. Respelling: nekid



